
05170_SP Clamps

© norelem www.norelem.com 1/1

Item description/product images

Description

Material:
Body and push-rod 1.0501 carbon steel.
Lever parts steel plate DD11 1.0332.

Note:
The clamp can be mounted with a bracket or into fixtures using the front screw.

Overview of items

Order No. L L1 L2 L3 L4 L5 L6 L7 L8 H H1 H2 M=clamping spindle D1 D2 S1 Travel
S

F
kN

Plastic
grips

05170-010 26 52 42 34 13 15 130 18 20 101 20 20 M6x30 10 M16x1,5 6 26 1 05200-205
05170-012 32 75 60 50 20 18 170 30 30 139 25 28 M8x40 12 M20x1,5 8 40 1,5 05200-120
05170-016 40 105 92 78 35 20 213 60 35 155 32 44 M10x50 16 M27x1,5 8 70 3,5 05200-135


